Name:

Adding Integers

Adding Rules:

Positive + Positive = Positive 5+4 =9

Negative + Negative = Negative (-7) + (- 2) =-9
Sum of a negative and a positive number

Use the sign of the larger number and subtract

Find the sum. A
34 + 76 = 2 45 + 11 =
> 20 + -18 = 4 52 4+ 2 =
> .15 + 58 = ° .18 + -33 =
7. 8.
42 + 39 = 44 + -26 =
Y -3+ 37 = 36 + -33 =
" .6 + 25 = 225 + 73 =
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Name:

Adding Rules:

Adding Integers

Positive + Positive = Positive 5+4 =9

Negative + Negative = Negative (-7) + (- 2) =-9
Sum of a negative and a positive number

Use the sign of the larger number and subtract

Find the sum. A
"34 + 76 = 110 > 45 + 11 = -34

> 20+ -18=2 52+ -2 =50

> .15 + 58 = 43 * -18 + -33 = -51

7 42 + 39 = 81 > 44 + -26 = 18

3+ 37 =234 36 + -33 =3

M. 6 4 95 = 19 225 4+ 73 = 48



